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Candy Cane Addition Cross Out g

Directions: Roll two dice. 3
Find the sum of the
numbers. Cross out a box
with the sum. When there
are no humbers left with
the sum you roll, you lose
your turn. The player who
crosses out the last
number is
4 the winner.
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" Wowtans Ammats Aadion Cross O 8

Directions: Roll two dice.
Find the sum of the
numbers. Cross out a box
with the sum. When there
are no humbers left with
the sum you roll, you lose
your turn. The player who
crosses out the last
number is
4 the winner.
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Christmas Addition Cross Qut

Directions: Roll two dice.
Find the sum of the
numbers. Cross out a box =D>
with the sum. When there ey

are no humbers left with

the sum you roll, you lose

your turn. The player who
crosses out the last

4

number is
the winner.
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7—4—7—7—3—7-"0F-7-7"7-7-75-7-7

Gingerbread Addition Cross Out =D
)

Directions: Roll two dice.
Find the sum of the
numbers. Cross out a box X
with the sum. When there
are no numbers left with

the sum you roll, you lose

your turn. The player who «3)
crosses out the last

number is

4 the winner.
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7—4—7—7—3—7-"0F-7-7"7-7-75-7-7

: Gingerbread Baking Addition Cross Qut ~s

)

Directions: Roll two dice.
Find the sum of the
numbers. Cross out a box X
with the sum. When there
are nho numbers left with
the sum you roll, you lose
your turn. The player who «3)

crosses out the last

number is
4 the winner.
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Thanksgiving Multiplication Cross Out

Directions: Roll two dice. =3

Find the product of the

numbers. Cross out a box )

with the product. When
there are no numbers left
with the product you roll,

you lose your turn. The
player who crosses out the

4

last number is
the winner.
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Directions: Roll two dice.
Find the product of the
humbers. Cross out a box
with the product. When
there are no numbers left
with the product you roll,
you lose your turn. The
player who crosses out the
last number is

the winner.
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Christmas Multiplication Cross Qut

Directions: Roll two dice.
Find the product of the
numbers. Cross out a box
with the product. When
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7—7—7—7—F—7—7—37—7—"7—7—7—77
Gingerbread Multiplication Cross Qut

Directions: Roll two dice. NG

Find the product of the
numbers. Cross out a box

with the product. When =
there are no numbers left

with the product you roll,
you lose your fturn. The

player who crosses out the ™)

4

last number is
the winner.
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Gingerbread Baking Multiplication Cross Out -3

Directions: Roll two dice.
Find the product of the
numbers. Cross out a box
with the product. When
there are no numbers left
with the product you roll,
you lose your fturn. The

player who crosses out the

last number is

the winner.
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